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— ~ B (30 pts, 3 pts/ each)
1. What is the ground state electron configuration of chloride ion ?
(A) 1s°252p%3s3p*  (B) 1572572p%3s3p°  (C) 15725%2p%3s'3p° (D) 1572572p%3s%3p°
2. Which element has the highest electronegativity ?

A0 B)C (CN @d)B

3. Which molecules are polar ?
CH4 (1), NH;(II), HO(II), CO,(IV)
A@Lma ®IiLia ©LIiv O)ILILIv
4. Which substance is the strongest base ?

(A)Br (B)NH; (C)H,O (D) CH3;CH,O

5. Which substances are Lewis acids ?
F (1), AICI;(II), H,O (), (CH3)3C+ (1vV)
A LI @LIV OILIOLIvV MILIV

6. Which structure represents the most stable conformation of trans-1,2-dimethylcyclohexane ?

CH, | H;
(A) %C (B) CH. (O ) CH
CH;3 CHj;
7. Which is the [UPAC name for the following structure ? @\
(A) cyclohexenol (B) 1-cyclohexen-4-ol OH
(C) 3-cyclohexen-1-ol (D) 4-cyclohexenol cH
3
8. Which is the [UPAC name for the following structure ? CH3—C—I]I—CH3
(A) N-methyl-tert-butylamine ~ (B) fert-butyl methylamine H;H

(C) N-methyl-2-methyl-2-propanamine (D) N-methyl-1,1-dimethyl ethylamine

9. Which is the IUPAC name for the following structure ? i i
(A) 2-oxohexanoic acid (B) 5-oxohexanoic acid CH3;CCH,CH,CH,COH

(C) methyl butyroxo ketone (D) 4-ketopentanoic acid Q
10. Which is the JIUPAC name for the following structure ? = C’H
(A) (E)-3-phenylpropenoic acid  (B) (£)-benzylacrylic acid ' \COZH

(C) (E)-1-phenylpropenoic acid (D) (Z)-3-carboxy-1-phenylethene

BI1H/A3H
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1. Please write the structural formula for the major product in each of the following reactions.
( Note: Please give the correct stereochemistry, if necessary.) (20 pts, Spts/each)

1 ) HzS 04 0) SO4
QOH heat A HOOH B

2) 1 o
H,C=CHCH, CH;COOH > C Na SH D
CH,Ch, H,0 -
3) OCH; (ﬁ
©/ CH;CCl E n F
AlCK

H
4)O/C3+ mp—— ¢ + H

B2HHAIHE
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1. Both carbon dioxide (CO,) and sulfur dioxide (S0O;) are triatomic molecules. Account for
the fact that carbon dioxide is a nonpolar molecule, whereas sulfur dioxide is a polar

molecule? 4%, 4%)
2. Calculate the number of sigma (o) bond and pi (p) bond in CH3COOH? (4%, 4%)
3. Calculate the number of primary carbon, secondary carbon, tertiary carbon and
quaternary carbon of the following compound? (8%, each 2%)

CHs CH,CHy

CH3—C’I—CH2CH2(13HCH3
&y
4. Write the line-bond structhres for the two primary amines with the molecular formula
C3HyN? (4%, 4%)
S. Write the IUPAC name for the following compound? (12%, 4% each)
) (i) (iii)
CH,
H CHs ~NO;

Y
HaC™" H
CH3CH,CHCH,C=CCH,CHs4 3 cl

6. Assign absolute configurations (R or S) for the following compound which has three
stereocenters? (6%, 2% each)

BIH/MHIH



	p049
	p050

